Math 110
Section 2.7
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Graphing Via Transformations (§2.7):

	This change…
	…produces this result:

	Given y = f(x)


	

	y = f(x) + k
	Shift UP by 
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 units

	y = f(x) - k
	Shift DOWN by 
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 units

	y = f(x + h)
	Shift to the LEFT by 
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	y = f(x - h)
	Shift to the RIGHT by 
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 units

	
	

	y =  -1 ● f(x)
	Reflect about the X axis

	y =   f(-1 ● x)
	Reflect about the Y axis

	
	

	y = k ● f(x), k > 1
	Stretch VERTICALLY by a factor of k

	y = k ● f(x), 0 < k < 1
	Compress VERTICALLY by a factor of k

	y = f(k ● x), k > 1
	Stretch HORIZONTALLY by a factor of k

	y = f(k ● x) , 0 < k < 1
	Compress HORIZONTALLY by a factor of k
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